AN

(1) By = z? +ax+b%y$&]7‘3[‘]k 8 FEABEL, S 51T o WA 3 AT
BEIEEL, y=22—62+41lo7, TDE, a, bDEEZRD X,

" > K Al o2 vl )
Y § - {}"/5 + (AL 2 )}:‘Q
-

(0= -6 TBE (3%) | 4o

- 7( -Hf* 1 304+ 1\

T tantb t (=) 4 &2’1/7;74{22”{; ek b

2 —3ecdbt = 4
2o TBE (Lp)t (M3, pop) e tar (TSI Lo
T{a " 0{—(}:3, ﬂ-oBLVf s 93y \\/{/_
[’/

40, pz3 b fixies wie R-0. be3

-

(2) By = 22+ az + b ZFERICEA LU THHBEL, s @G220 BEIEIES &,
YR S y=—a’+8c— 41>/, TDLE, a, bDEERD L,

gt b L - -

| Yoxrtonth ® BLAATHCGSE Yo X tar=h

Y = A0 . -4 ]
R R C 2 7 - e =(1- + Ma->-b
Yo (=) (2 - J= ~(-qa+4) 1012075
[ . Az (Froox —20-b-¢
ATRLT (§02yT
S E My pon+h o TR E XFA A1 279
stuinen s Y-Atoax+h« TEL 7 (2002)

4%&78

—0-b-4- %
e S

LN 7» -2yt zvfdim? 7"1’-%4)&{ £ . P-b- s

—5 -

i1 g, hef T
(3) E@%:x2+ax+3m$m75rac:2,yﬁmﬁr@c:3ﬁw$ﬁ”}aa y=122-22+6
i otz, TOLE, aDIEZKRDZI N,

Yo( X ~(Y 46 ([ )13 teaTbdg ﬁmﬁn» 2

L’}(})ﬁ?{]{:)&pp\(j :tm7lﬂ S {g"‘7'é/g(;l/ j 3*(1—2)-f0\(7t—2)+3
YA 24t ol 2+3+3

(‘l, ; g‘S)”’ (4,2) 12 (A~ FL ~ 2a+]|0

f Q4= -3

| | -2a<i0+4
Gelxt1) 42 |

Yz gzf24+ 3

351

J-( &:2 \\

1 4% http://www.mathtext.info/



